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Student Name: Student Number: ( C

1) The tangent line equation to the curve of / (¥ )=

-

x
> at the point (L,—1) is

X
[a] y =-2x +1 Bly=-2v-1 lely=2x+1 [dly=2x-3

D Iy =3 +e” theny'=
2 [s1:7 x2
@ 3% csex cotx +2xe” —-3%% cscx cotx +2xe
2 2
E_{ 3%°% csex cotx In3+ 2xe” —3°°* ¢csex cotx In3+ 2xe”

3) Ity =tan” (x )—cos™(e” ), then y ' =

_}_ex 12+e

I+x2 1_6235 1+x 1__er

1 e’ 1 e
- adi—
El+x2 N T+x? 1—e®

P

lim xP4x -2
4) so13x2-2x -1

4
@ g 'zf 1 does not exist

5If y =(2x2+1)5,then y’¥

[a] 20x (2x2+1)"  [B] sx (207 +1) 5(20+1)’ 20(2x% +1)

6) The inverse of the function f (x )=2x -3 is

alf ) =22 Blr =22
GO /) ==

7) The solution of the inequality lx -~ 45 >3 is

allL7] Bl L7 (=2, DU (7,0) [d](=o0,1JU[7,)

8) The critical numbers of the function f(x)=x 3_3x?-9x +5 are

a] £1 [b]+3 le] -3.1 -13

9) The function f (x)=x>-3x"~9x +5 isincreasing on

a] (3.1 b] -13) (—o0, ~1)U (3,) (=o0,-3)U (1, 0)

10) The function f (x)=x>-3x?>-9x +5 is decreasing on

PIER ] 1.3 (=0, ~1) U (3,0) (=0, -3)U (1, 0)




11) The function f (x Y=x’—-3x?—-9x +5 has a relative maximum
value at the point

[a] 3.32) (-1,-9) ] 110 (3,-22)

12) The function f (x)=x>-3x?—-9x +5 has a relative minimum
value at the point

e Bl 19 (-1,10) (3,-22)

13) The graph of f(x)=x>-3x?-9x +5 concave upward on
al 1e)  [plLw) (=2.]) (=0,~1)

14) The graph of f (x)=x°-3x 2_9x +5 concave downward on
] =) BleLo (==0.1) (-0, -1)

15) The function 7 (x)=x>-3x?-9x +5 has an inflection point at
a9 Ble-19 (-110) (L-6)

16y T ) _

x—0 sin(5x )

=y 3 5
la] < b]3 ] 5 3

5

S5z

17) —6— r&d =
la]120° [b]150° 240° [2]300°

18) The vertical asymptote of / (x ) = : i 11 is

x —
1 1 1 1

y=‘z x=“Z J’=Z x=z

19) The equation of the line passes through the pomts(3,4) and (5,—2)}‘5
@] y=-3x+13 [Bly=3x-13 [c]y=3x+4 [d]y=-3x+17

20) function f (x )=sin" (x +2) is continuous on

@l (-3-1) [l[13] [3-1] (3

21) sﬁn(cas’1 {%}) =

5 3 3 4
@ g2 @l @
3 5 4 3

X +5
5> =5% b °

R\ {16} R\{2,3} R\{-3,-2} A R\{-6,-1}

22) Find the domain of the functionf (x )=




23) D (sinx) =

@ sinx COSX — sinx — COSX
3
24)  The function f(x)=2 "*'31 is
x —
@ Even @ Odd Even and odd Neither even nor odd
. Inx
25) 5-5x
@-1  Es s @l
26) The horizontal asymptote of f/ (x)= : H} 18
x —
1 1 1 1
@J’:—Z @x=‘g JV=Z sz

27) Find the range of the function/ (x )= Vvx =9.

fR=(-2)  [][9.) [0.0) (===,0]

28) If  (x)=~/x , and g(x )=cscx’, then (g of ¥x)=

la] cse/x ] Vesex? Jesex csex

29) If f(x)=2x7 then f'(x)=

2 /9,2 i %2 2

ﬁm2<x +h)y —(2x7°) @ ﬁm2(Jc +h) +(2x°)
x =0 h x =0 h

2 2 2 2

%ﬁ%Z(x +h}h+(2x ) }}:m% 2(x +h)h (2x °)

30) If f(x)=x +1,and g(x)=x +6, then (fg)(x )=

[a]x?+5x +6  [plx?+7x +6 clx?-5x+6 [d]x?-7x +6

3y —2siny +3x*—5=0,then y ' =

6x @ 6x B 6x @ 3 6x

3y2—2cesy 3y2+2e:0$y 3})2—2e:osy 3y2+2608y

32) If y=2Jx - —?;}—3—5’51&63 y'=
X

— 1 1 1 1 1 I 1 1
i ;3 [ — e B d| — 4 —
d - == b= d-550 =+

33)IF y =log, Vx®+2

3x? x* /33:2 3x?

F+2)n2 — 2(x"+2)in2  2(x*+2) 2(x+2)in2

,thenyfz




| 34) The absolute minimum point of f (x )=3x*—12x +1 in [0,3] is

la] ©.1) b] ©.2) @-1D (2,-13)

35) The absolute maximum point of  (x )=3x*-12x +1 in [0,3] 18
©,1) 5] ©,2) @,-1D) (2,-13)
36) 5&?: (:ﬁ%ax = w,a>Llima* =0,0 <a<1}

a1 does not exist 0 ld]

37) The number ¢ in (0,3) which make the function f (x)=x 2 +3%x —4 satisfy
Mean Value Theorem on [0,3] is

3 1 1 3
Z Bl-= f]s d-=
@2 B-1 E; @-2

38)If y =x cos (2x ), then y ' =
cos”(2x )| cos(2x ) - 6sin(2x )] [6] cos? (2x )| cos(2x ) —3x sin(2x )

]
cos” (2x )| cos(2x ) - 6x sin(2x )] cos”(2x )| cos(2x )+ 6x sin(2 x)]

39)If y =+3x>+2x ,then y'=

3x +1 @ 6x 3x 3x +1

Z\/Sx 24 2x V3x P+ 2x 2\[3x2+2x V3x i+ 2x

A0)If y =x ™ then y' =

.| tanx 2 tanx
@x“’“[———ksec‘x}nx} @xts‘”[ —sec’x Inx}

X X

x [tanx ~cse’x mx} @ x [tanx +csc’x Enx]

X X




